r(t) =sinwti+coswt j+tk

z v
ma(sin wt +coswt)
ma(sin wt +tcoswt)
m(coswt + wtsin wt)
MwCoswt

m 3
r(t)=cosat i +sinat j+ ot k
X y z
m(cosat i +sinw j+wk)/2
m(sinat i +cosw j+wk)/2
m(sinwt + cosw + w) /2
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r t
il j! k X y

ma(sin ot —coswt)
ma(sin wt —tcos wt)
m(coswt — wtsin mt)
—MaCcoswt

r t

Et) i, j, k

w

m(cosawt i —sinw j+wk)/2
m(sinat i —cosw j+wk)/2

m(sinwt —cosw + w) /2
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Maw/?2 Mo
m X
F=—kv?i i X
k t=0 V=I
v t
V()= — 1 i i V()= —— i V()= —— i
kt/m-1 kt/m+1 kt/m+1 kt/m-1
K _k _k _k
vit)=—e mi vit)=——e ™i vit)=—e ™ i vit)=——e ™ i
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m
(X, y,2) =cxyz n=Xi+yj+zk r=XIl+Y,]+2K
i J, k X §% z
c
_C(X1y1z1 =X yzzz) C(X1y121 + Xzyzzz) C(X1y121 + Xzyzzz)/2
_C(X1Y121_X2y222)/2 mC(X1Y1Z1+ Xzyzzz) _mC(lelzl_XzyZZZ)
- mC(X1Y121 - X yzzz)/2 mC(X1Y1zl + XzYzzz)lz
2 2
TU_p0u A
ot 0 X
5[m] 3[m] 50[Hz] A
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nl n2
n12 Cl
AL T L} n, =D G_n
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n12:_ ’ _:_2 n12:_ - —:—2
n, c, n n c, n,
500[K] 1[mol] [J]
2x107% [kq]
8 [3/(mol  K)] 6x10% [/mol]
1x10° 2x10° 3x10° 4x10° 5x10° 6x10°
7x10° 8x10° 9x10°
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a— b- -
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(V) = 47znv2( m j%e‘%z m y
v 27KT
“Vo(v)dv
T v v - J"w (V)
.[0 o(v)dv
J‘m *,3 2 1
, #(V)dv=n IO x*exp(-a x*)dx=——
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3 1 1 3
C RN € N ¢
13 2 f[m] E-_2 (LJ[N,C]
27 r \ ¥
' &,[F/m]
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a[m] z b[m]
A 3 A A
272'6‘0r2 27Z'6‘OI’2 2w g,r
A A b A, a
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270 &oF 2re, A 2re, b
14 E[N/C] B[T] v[m/s] q
FIN]
F=qux(B+E) F=q(B+E)xv F =q(E +vxB)
F=q(E+Bxv) F=q(B+vxE) F =q(B+Exv)
2 &S
15 S[m?] d[m] = T[|:]
E(t) = E, sin(ot)[N/C]
|(t)[A]
I(t) = E o Sin(mt) I(t) = E cos(mt) I(t) = E cosin(at)

E @Cos(at)

I(t)_

I(t) = &,SE,wsin(at)

I(t) = ¢,SE,wcos(wt)



16 E[N/C] B[T]

&, [FIm] 41 [H/M] p[C/m?] i[A/m?]

div(e,E)=0 divB=p rOtE=—@ rotB = ¢, yoa—E—in
ot ot
div(s,E)=p divB=0 rotE = B rotB = —¢, E+ Hol
ot ot
div(¢,E)=p divB=0 TrotE= _B rotB = ¢, 4, E+,uoi
ot ot
div(s,E)=p divB=0 rotE = %3 rotB = ¢, %E—yoi

div(e,E)=0 divB=p rotE:—(%B rotB:gO%—,uoi

div(¢,E)=p divB=0 rotE = % rotB =-¢, ,u(,%+ y78

17 z EX[N/C]=Eosin(ZTﬂz—Zﬂvt)[N/C]
B,[T]=B, sin(27ﬂz—27rvt)[T] A[m] v[1/s] t[s]
E,[N/C] B,[T]
&o[F/m] #,[Him]
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=&, U, —=— —— =gy — = &gty ——
oxZ ot ot oy ot ot 522 ot at
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Eaar e Eaar
18 v [m/s]
1 v
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A A
hcA = hcA'+mv
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